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Note: (@) All questions are compulsory.
(b)Marks are indicateq against each question in Square brackets,
(¢) The candidate is allowed to mae Suitable numeric assumptions wherevep- equived for

solving problems
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Q.2. Derive the relation to find out thickness of the .glass sheet by the method of latera]
displacement of fringes? NG 3 [CO: 1; Marks: 2]

ring? %% : [CO: 1; Marks: 2
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Q4. Derive the relation for intgf‘fe?%se,?}naxima and minima in Newton’s ring experiment.
: 3 [CO: 2; Marks; 2

Q.3. Why the diameters of the ringg doe%‘g%%éase in the same proportion as the order of the
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Q.5. The path difference Bz%_e n the two interfering rays at a point on the screen js th of the
wavelength. Find ti I t;;g Of the intensity at thig point to that at the centre of the bright fringe.

% vl | R [CO: 2; Marks: 2]

Q.6. A E@h\ﬁl ﬁlﬁ?’agf Séap solution is illuminated by white light at an angle of incidence i=sin’!

(4/3). I e?}qcted light two dark consecutive overlapping fringes are observed corres onding to
oieg g P g
wave :%‘g% w1 x 107 and 7 X 17 m. The refractive index of the S0ap solution is 4/3. Calculate

the’ hé-k@éss of the film, [CO: 2; Marks: 2,57

Q.7. In Newton’s ring experiment, the diameter of 4™ ring and 13 rings are 0.4 and 0.7 cm,
respectively. Find the diameter of the 2(th dark ring. [CO: 3; Marks: 2.5]

Page1of1



